= BARRACUDA

ASSEMBLING INSTRUCTION

CRASH PAD
KAWASAKI Z750 (03-06)

KN7101 2.

WWW.BARRACUDAMOTO.COM

3.

1.

LEGEND

HEAD PAD
TESTA TAMPONE
TIESTA DE TOFPE
STURZPAD KOPF
TETE TAMPON

SCREW M10x190
VITE M10X180

TORNILLO M10X190
SCHRAUBE M10X180

VIS M10X190

BASE PAD

BASE TAMPONE
BASE DE TOFE
STURZPAD BASIS
BASE TAMPON

4. SPACER TUBE H.100
DISTANZIALE H.100
DISTANCIADOR H.100
DISTANZROHR H.100
ESPACEUR H.100

. WASHER @10

RONDELLA @10
ARANDELA @10
SCHEIBE @10

RONDELLE @10

. NUT @10

DADO @10
TUERCA @10
MUTTER @10
ECROU @10

RIGHT SIDE

LEFT SIDE

7. SCREW M10X200
VITE M10X200
TORNILLO M10X200
SCHRAUBE M10X200
VIS M10X200

8. SPACER TUBE H.111
DISTANZIALE H.111
DISTANCIADOR H.111
DISTANZROHR H.111
ESPACEUR H.111



